
 

 

Answer on Question #63922-Physics-Other 

A stone M is throne vertically upward with velocity of 20 m/s square at the same time and 30m vertical 

above a second stone N is left fall. After what time and what height do they collide take g=10m/s square 

Solution 

The displacement of stone M is 

𝑦𝑀 = 𝑣𝑀𝑡 −
𝑔𝑡2

2
. 

The displacement of stone N is 

𝑦𝑁 = ℎ −
𝑔𝑡2

2
. 

At the collision: 

𝑦𝑀 = 𝑦𝑁 

𝑣𝑀𝑡 −
𝑔𝑡2

2
= ℎ −

𝑔𝑡2

2
 

The time is 

𝑡 =
ℎ

𝑣𝑀
=

30

20
= 1.5 𝑠. 

The height is 

𝐻 = 30 −
10(1.5)2

2
= 18.75 𝑚. 
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